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Abstract

This research compers between the silicons cell’s and the dye sensitized soler
cell’s in size and efficiency and cost ,there was three local made dye sensitized
were used which made by three different daeis thay are (Rodamine-comarein-
DDT) and our concered is the effiect operator in efficiency like the intensity and
the area of the servie of cell’s and the quality of the effective matiral in the cell’s,
the purpose of reseach is to findout if the sensitized dye can be the replacement for

the silicons cell’s.

To count the efficiency of the silicons cell’s we find the relasionship between the

current and volteage.
The efficiency equles.. 95.8242163 %.

To count the efficiency of the dye sensitized cell’s we find the relasionship

between the current and volteage for the three cell’s.
The efficiency of sample(1) equals 1.6439858 % .
The efficiency of sample(2) equals1.7830365 %.

and The efficiency of sample(3) equals1.625759 %.



